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Frear BN FBE AT HEE (EHEED

FE| #a | EBIES | BERf | BEs | EX6s| iR Rer
1 At | 2009120109 | HFEgHR BRI 22 w3 e 77.2 77.2
2 25 7K ] 2009120110 | HFEg 4 #HR L 2B Hm4 e 88.5 88.5
3 TRAE | 2009100107 | BFEgdrEERL 2=k U5 73.8 84. 2 79.0
4 PN 2009110726 | HrEgdrEHRL 2= #Um9 68. 2 88 78.1
5 Miokek | 2009100813 | FrEgdERERAL 2R U1l 62. 4 90.3 76.4
6 BEHZE | 2009100520 | BFRgERERY 2B #Ui12 66. 4 91.3 78.9
7 s | 2009113930 | BEEGAREREYL 22k HUi12 59.8 89.5 4.7
8 INEF | 2009100602 | BFEgHEIERL 2R 13 57 87 72
9 JE ik 2009113304 | HFEg4 HER L 2B #Uii15 61.4 90. 0 75.7
10 XETF | 2009112315 | FFEg4P BRIl 22k U119 62. 8 79 70.9
11 JAREHE | 2009100225 | FFEGHERERALAERE #om21 62. 4 85. 6 74
12 skigil | 2009113012 | R4 BRI 225 22 64. 8 86. 1 75.5
13 X1/ 2009114629 | HFEgy HEER L 2B 23 57 85 71
14 THEEF | 2009114022 | FrEgdERERL 2ERR #hi24 59. 6 87.8 73.7
15 T 2009113724 | HrEgdrE R 2= SEES 511 64. 6 86. 7 75.7
16 A 2009100315 | Hregdr B 2= B SEEG A2 56. 8 90. 8 73.8
17 SENLH 2009100116 | Hrrgd B 2= B SEEG A3 54.2 76. 80 65.5
18 X e 2009114407 | Bregd B A= S5 514 41. 4 66. 8 54. 1
19 A 2009110123 | Hregdr Bl A= B SEEG A5 58. 6 79.2 68. 9
20 FHEE | 2009113621 | BRI R S 516 63.8 85. 7 74.8
21 TR 2009100611 | Hregd B 2= SEEG AT 66. 4 85. 4 75.9
22 PR E 2009112601 | Hregdr BRIl A= SEEG A8 71 87. 2 79.1
23 2K ¥ 2009100801 | FHrrgdEEHRY 2= R%5=E1 76. 2 87.4 81.8
24 s 2009100406 | Gr g4 B 2% B R45 %2 67.6 87.9 77.8
25 75 2009120111 | FFrdr BRI =R | 20 (Ego = 78.2 78.2
26 ARG 2009110808 | ¥rrg4 EEHRNY 2% i =it 77.6 83. 4 80.5
27 = 2009113623 | Hregd BRI A= =it 69. 8 89. 2 79.5
28 FE 2009113104 | HFEayHEINEERE | FEEAO1 73.4 84. 6 79
29 MRiE#E [ 2009111117 | BB | E8d02 72.8 87 79.9
30 X1 2009112330 | HrEgdrEERL 2= H < 1 77.6 88.0 82.8
31 TRE 2009113722 | HrEgdrEERL 2= Hh <12 79. 4 86. 8 83. 1
32 HEHE | 2009111307 | BrEgEERL AR HA i3 77.6 84. 4 81
33 BEREDE | 2009100622 | BrEgHRERERY 2=k U <4 84 85.8 84.9
34 MRTese | 2009114304 | BFEGHPEERY B Mol 84. 2 87. 4 85.8
35 RIRA 2009114029 | Hregd B A= Mol 79.8 87.8 83. 8
36 SN 2009100209 | HrrgdEEHRL A= B 32 81. 4 84. 1 82.8




